Package Included

1.Front Shock Tower x1
2.Rear Shock Tower X1
3.Front Tower Stand X1
4 .Shock Set x4
5.M2x10 KM Screw X2
6.M2x8 PB Screw X6

7.M2x10 PM Screw
8.M2 Lock Nut

x4
x4




